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Answer all groups as per instructions.
Figures in the right hand margin indicate marks.
Candidates are required to answer
in their own words as far as practicable.

GROUP -A

b

Fill in the blanks. (all)

degdle dedl @al (2ag)

(a)

(b)

First attempt to estimate national income in India during Bri-

tish period was made by
G549 S19R ANAER QNS RIS 2k ARRFR AQ4E
@oelem |

The sex ratio as per 2011 Census was

900 ¢ FRAERI QUM REFIQUS R |

The contribution of agricultural sector to GDP is gradually

GDPQ 98680 QIR @4 6208 |

PTO




[2]

[ ' sector.
(d) Disguised unemployment is seen in

2QeQ¢l caala 660N eI

nto

The industries in India can be broadly classified |

(€)

industries.

06 Ga9ER CIeNes QIeER 303 |

year.

(f) The Green Revolution was started during

A9e Gge cdelca 2ien @audieiml |

(g) The highest contribution to GDP in India is from
sector.
QUQ96a 6ElIe' F6aIR RYIG] AP YRR 6809
Apeld |

(h) Globalisation is an important feature of policy.
FOR1RRE QPR 98 ey 68y |

(i) Five Year Plan had given more emphasis on pov-
erty eradication.

g8 Qfe AR AR QAIRRS RUCA AEAIP Y9
ZIeQIe @YUM |

(i) Zamindari system was introduced in India by

LI FQ AN gell goae @i |
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(k) The National Population Policy was formulated in the year

Q018 FeL°E 1P cdelca 6AI8e el |

() The Second Five Year Plan had given more emphasis 0

sector.
Jo19 agede calea! c8eR 9aQ dale [oam!|

GROUP - B

to three

Answer any eight of the following questions within two
[2%38

sentences each.

5a6AEa [G g9a e deiaq af @ 56018 QIRUER gala KAl

(a) Mention two consequences of British Colonial rule on Indian
economy.
564 S12a0 QeSS YIRE aJea QG gRIe SINER QNS

@ |
(b) What do you mean by commercialisation of agriculture ?
G860 QILQAURRE F26M @Sl QK. ?

(c) Which stage of population growth is termed as population
explosion ?

qad-a 289Ra 67 909 @7 G968 qRIAN 7
(d) What is demographic dividend ?

AR MR @6l ?
P10,




[4]

(e) What is Zamindari system ?
afqien gell @8 7
(f) What is urbanisation ?

ALAXRNE @€l ?
Mention two objectives of NITI Aayog.

(9)
Q1B 2i6gidn Qad IR asns @l

(h) What is short term agricultural credit ?
QAR Q8 Q& @6l ?

(i) What do you mean by agricultural marketing Y
Q8210 9Qda FTde FIER Fé QL ?

(j)) What s the tertiary sector in India ?

QAR 6494 €l ?
GROUP - C

3. Answer any eight of the following questions within 75 words each.

6d6@lad C& 990 QR F601RY 988 €0 FRIER FIIR 4|
[3x8

(a) What is colonialism ?

QIR P4l 7
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(b) Explain the nature of unemploymentin India.

(c)

(d)

(e)

(f)

(9)

(h)

(i)

)

Qla0ea camlala gqe Gaasa QUICH Qal

What is regional inequality ?

o|BRE QAN @&l 7

What is demographic transition ?

oadryie AQYSa KEl ?

Distinguish between relative poverty and absolute poverty.
rcafia aGgy 6 Gaf QRaY FrIsR aIga Qdial|
Green Revolution

A9R G9Q

What do you mean by Industrial sickness ?

3a QElEIol FEEM K¢l Q. 7

\What is ceiling on land holding ?

ofia 26alp APl FRIRS Q612

What is MRTP Act ?

RRIFIQ UQLIC Q028 Q| AR @81 ?
What is market orientation ?

TR RGEMS! Q€1 ?

P.1.0,
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GROUP -D

yestions within 500 words each.

Answer any four q =
: crica a2

c0edled Y6 gge faa deetag, $0° R

4 Explain the conditions of Indian economy during British period.

53¢ 610 AANER NIaGIS 2B A9 AR T4l
5. Discuss the causes of population growth.
PR 2RYFQ QAR MR AR |
6. Discuss the role of agricultural in Indian economy.
Q0018 AIME6R 988 §finl ERISR aal
7. Discuss different sources of agricultural credit.
28 Qda 30 A2 NSR }Q |
8. Explain the features of Industrial Policy of 1991.
R QR FFRIFR 6RER FINER AUCRISR! @R |
9. Discuss the role of small scale and cottage industries.
g2 6 g1Q d2Q YFil SERIeRl A
10. Discuss the importance of service sector in Indian economy.

20619 AIRIP6R 6291686R 90 94! a9 |
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